ITI Computer Operator and Programming Assistant (Python)
Module 12 Advanced Excel Concepts

(1). The data in the Excel data model is stored N qﬁamn"mﬁm@?ﬁo‘m
wraTe_ |

(A) On hidden excel sheets | %&mqﬁa&ﬁww
(B) Inthe Power Bl data model, within excel | Power BI éﬂﬂvﬁﬁﬁ, Eﬂ'\ﬂﬁ% R
(C) On Microsoft Azure servers | Microsoft Azure IR W

(D) All of the above | W & gt

Correct Answer : B

(2). To comment out a line of code in the Power Query Advanced Editor . | Power Query

Advanced Editor H§ ®1S &1 Uh dlgd U feuiem & ﬁl’({_ |

(A) Use#

(B) Use\\
(C) Use /*
(D) Use//

Correct Answer : D

(3). What type of chart is good for single series of data? | Scaal RraRfia® ﬁl'l'{ g
TPR BT ATC 3T 3?

(A) Column Chart | BITH dT¢
(B) Line Chart | @IS AT

(C) Pie Chart | UTS T

(D) Cone Chart | B9 ITS

Correct Answer : C



(4). In the formula =if(al=b1, c1, c2), the result will be c2 if . | A =if(al=b1, c1, c2) ﬁ,

gfq ___ grarafvoms c2 ghm
(A) AisequaltoB

(B) A does not equaltoB

(C) Al+BlisequaltoCl

(D) A1-Blisequalto Cl

Correct Answer : B

(5). Study the screenshot, The tabs circled in blue are not ordinarily visible. What do you need
to do in order to access these tabs and the functions they contain? | W’ﬂ?’(ﬁ% DI AT
Y, et OY ATt T AT FU A RS A8 ¢d 81 59 &9 e s I e ae
UgT- & T STU! 1 = Bt STaRTAHdT 82

PivotTable Tools

Optiaons I Design

(A) These are called contextual tabs. To display them click anywhere within a Pivot Table. |

30 PCRICINT ¢d BT ATl ¢ | I8 UaiRid B3 & fore fUae eaa o a8 ot foas w41
(B) These are called contextual tabs. To display them click on the Pivot Table tab on the

Ribbon. | §78 BeaIg3Id ¢d Bl oITdl § | 36 UGIRId ®= & e a1 W fUaie ¢qa
¢ R fFad o3|

(C) These are called PivotTable Tools tabs. To display them tick the PivotTable Tools tick box
in the Tables group. | 8 fUdIC C9d ¢o ¢d BT STl ¢ | 36 UGRId He1 & g 9
TYE U PivotTable g0 AP aIRI UR fed B |

(D) These are called PivotTable Tools tabs. To display them hover your mouse above the

normal tabs on the Ribbon. | s%ﬁaﬁz%aagw%—dwﬁrm%l uaﬁhmﬁ%ﬁrq
3T AT B! f¥aT IR I 9 & S UR g |

Correct Answer : A



(6). What is the symbol use in a formula to make a cell reference absolute? | T IHIT Bl

TSiIege 991 & forg widen & frw River 1 SwaT fbar sar 82
(A) &
(8) #
(© $
(D) @

Correct Answer : C

(7). Where will you find options to add a border around the outside of your chart? | 3T

37 I1¢ & ARR d1SX Site P fded Bl fai?

(A) Under the Design tab in the Chart Layout gallery | ﬂﬁﬁWﬁﬁﬁﬁW%ﬁ%
Sfaifa

(B) Under the Format tab in the Shape Styles group | mmWﬁﬁéﬁ%
3fafa

(C) Under the Layout tab in the Background group | %mmmﬁﬁm%a% 3fafa
(D) None of the options above are correct | mﬁm‘rﬁﬁﬁé ‘-ﬁﬂﬁqﬁ%

Correct Answer : B

(8). The principal arrival of power Bl depended on NR'ICES ﬁﬂﬁmﬁﬁ'ﬂﬁ@ﬂﬁ
R R aRargl

(A) Microsoft word | msaﬁﬁqaaé

(B) Microsoft excel | mwﬁ

(C) Microsoft outlook | msaﬁﬂ‘fqz ST3cdd

(D) Microsoft PowerPoint | mm

Correct Answer : B

(9). What is the first step for creating a Pivot Table? | LI GERIEKD ﬁl’Q’ Ugdl Y
FATR?



(A) Create or select data that needs to be analyzed | %ammiﬁﬁﬂwﬁ@w
P P MTARAHAT 8

(B) Clicking on the Insert Tab and inserting a Pivot Table | sﬂé%wmm Gﬁ?w
fUge ¢ga sT@AT

(C) Deciding on which fields (column and row labels) to use to analyze the data | ST BT

fazauur 34 & fore f=1 &= (@1ad iR 3 Add) BT SUANT HI1 7, I8 FHuriaes s3-n
(D) None of the above | s-—n?rﬁﬁz% ‘l-ﬁ:lﬁ

Correct Answer : A

(10). Bl Standsfor .| BI®T3AFE |
(A) Business Insider

(B) Business Initiation

(C) Business Information

(D) Business Intelligence

Correct Answer : D

(11). Which of the following shows the address of the current selection or active cell in MS

Excel? |§H%@Hﬁﬁﬁqmmwaﬁﬁ?ﬁlﬁwmmﬁamw
fa@rarg?

(A) Column Heading | ﬁm%ﬁm
(B) Name Box | AT Sia

(C) Formula Bar | ﬁau@
(D) Row Heading | ﬁ'%ﬁ'ﬂT

Correct Answer : B

(12). How will you change 25-09-2022 00.00.00 Format to 25-09-2022 format in power query?
| 3T UTaR &) A 25-09-2022 00.00.00 YRS 1 25-09-2022 Y=Y H $A FEa?
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(A) Date/Time/Zone
(B) Date

(C) Time

(D) Date/Time

Correct Answer : B

(13). What contents will appeared in those cells, if you drag the fill handle of cell B2

downward into cell B3, B4 and B5? | Tf¢ 3T U B2 P WIdl eSol B! A B3, B4 30X B5 A



R Y R Egd € 9 39 A § T 9rEh fewrs e

FAY B
Days
Sun

N s W N

(A) Sun, Sun, Sun

(B) Mon, Tue, Wed

(C) Mon, Tue, Blank Cell
(D) MON, TUE, WED

Correct Answer : B

(14). How have the coloured cells been added to indicate how well the students have done in

their exams? | BT A U G A fopar a1 e frar g ug ST & & foru
PR A B B SIST AT R?

A B L b E F

ida“,’lf' heory | bmp Skill | Yractical | knglrz  W_Lal
1 Subjec =
d ARG Bl 12 % A4
3 AL o9 & | 180 30 3

42 | 100 17 %

=N
A
£
=
=
(=

(A) Conditional Formatting (Colour Scales) | SR WA (FHeR )

(B) Conditional Formatting (Data Bars) | aﬁ%smaw‘ﬁﬁméa dR)

(C) Conditional Formatting (Icon Sets) | mwﬁﬁ(mﬁw)

(D) Conditional Formatting (Formatting Rules) | mm(ﬁ% T)

Correct Answer : A



(15). Which format will display the value 32,500,000 as 32.5? | I | BIHE 32,500,000 AT

D1 32.5 S ¥ H fewat dem?
(A) #4444,

(B) ###.0,,

(C) 999.0,,

(D) ###,##4#.0,

Correct Answer : B

(16). Which function referencing a cell to match values in another row or column against the
cell and thereby retrieving the corresponding results from the respective rows and columns?

| DI AT R TP A I W hid Bl 8 ol d & (Garh gadl A AT viad & a1 &
Ad @TA1 @ 3R 39 UPR Haiud 3 3R Hiead & e feiee ure sar @2

(A) Sum
(B) If

(C) Count
(D) Lookup

Correct Answer : D

(17). Which tab on the ribbon will you find the Conditional Formatting option? | KeEal

HeIRd BIHe BT AT aq & f5a 29 u= faame?

(A) InsertTab | 37\‘1'(.;%3

(B) Formula Tab | W‘ﬁi?rr?a
(C) DataTab | T K|

(D) Home Tab | sﬁ'lﬁa

Correct Answer : D



(18). What would the formula read if copied to C6, if C5 contains the formula =$BS$1+C1? |

Tfe c5 ° G =$BS1 €1 WA &, T c6 H HIUY fHT T TR T FIT Uem?

C5 = j !=SE’.51IC‘1 u

A B C D B
1 50 8 230 652
2 150 360 450 41
3 450 540 652 51
4 15 700 125 74
5 SH

(A) =$BS$1+D2
(B) =$B$2+C2
(C) =$B$1+C2
(D) =$B$2+D2

Correct Answer : C

(19). A Calendar table can be created from .| TP FdASI 9 T 1S ST bl
gl

(A) PowerBI

(B) Power Query

(C) Power Pivot

(D) Either Power Query or Power Pivot

Correct Answer : A

(20). What dialog box allows you to change a field name in a PivotTable? | o sraa

e 9 3Y fUdie ¢ad A Wies &1 19 9¢d Ihd o2
(A) Field options
(B) Field pane

(C) Field settings



(D) Field structure

Correct Answer : C

(21). How to restrict to run a macro automatically when starting MS Excel? | Wmﬁ

I HId GHY Teh] H WaA1ed U I IaT & forg F3 uiasia ae?

(A) Hold down the SHIFT key during startup | TCTE3(U P GIRT SHIFT B GaTT 7@
(B) Hold down the CTRL key during startup | '\E'Ié\'ﬂ'qa?a?l:[ CTRL ﬂ'ﬁﬁTQ'?@'
(C) Hold down the ESC key during startup | WIS a?aTFT ESC aﬂa‘q'rq LLC]

(D) Hold down the ALT key during startup | R'ré&rtr%am ALT?%EETQ’?@'

Correct Answer : A

(22). Which of the accompanying Data Category settings can be utilized for mapping

information to geographic areas in Power BI? | Power Bl # Himfere aﬁﬁmﬁ Aft
& foe e o 9 o it et goft Afdva o1 Iy fovan s 9wan &2

(A) Scope and Longitude (e.g. 47.6080, —122.3351)

(B) An address (e.g. 1 Microsoft Way, Redmond, WA 98052)
(C) Acity (e.g. London)

(D) A place (e.g. Logan International Airport)

Correct Answer : A

(23). The Sum function is applied to values in a Pivot Table by default. How can | change this
so that values are automatically counted and not summed? | IH e fSthiee ©U 9
frdle 39a W Ious W AN Ea1 8 | A 3/ $ 90 TPdl & aIid Iegsl b Wadnierd =9
I A1 SIe 3R 9T 7 fopar wie?

(A) Insert the COUNT formula (=Count()) into the PivotTable | PivotTable A COUNT JA (=

Count ()) STa

(B) Change the format of the values in the Pivot Table to General Numbers | figlecaad

IS & W& DI - Rd 464 | g¢ad



(C) In the Calculations group, change the Summarize Values By to Count | WW‘ZU
H, RIS doygel & 0T H ded

(D) Change the format of the values in the pivot table to count | WW%W&W&
¢qd ¥ Al &1 UReY dga

Correct Answer : C

(24). How many type of conditions are available in conditional formatting on Excel? | Qﬂ'\qﬁ
H S BT | fha UPR 31 Id Iuay 32

(A) Two | G

(B) Three | o=

(C) Four | AR

(D) Five | U

Correct Answer : D

(25). The free Power Bl adaptation has a data limit point of confinement of___. | W1 UTaR Bl
TSR $1 Se1 forfie ulEe 3 s hreA< e |

(A) 512MB/client

(B) 1GB/client

(C) 2GB/client

(D) 3GB/client

Correct Answer : B



